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AR D HARE  ATH ORUICE S SE TS, FEOMBEZHRIND ANTH XS, 17olele UTH
frdsZl LB EHMLTVWET,

BEHPIDAN T —(GIEEBHITH B I L &t

n RIEFATH X = () WHLU T, tr(X) =Y ay LEDB, tr(AB) = tr(BA) &Y,

=1
AB — BA=F 2725175 A, B 3FIEL7R\ 2 & 2R,
n RIEJi1151 A,B =3 U T, [A,B]= AB — BA £ €% T 5, RO%ER % RHE.,

(1) [4, BC] = [4, BIC + B[4, C],
(2) [AvB] = _[BvA]'
(3) [A,[B,C]]| + [B,[C,A]] + [C,[A, B]] = O.

105] (1) {XY) =%t 2HWT, (XYZ) = ZVX %5t
(2) A SFRFHI, P IS5 513, PA P IZF4TA,
(3) A ZfAFHI, P IESATHI 513, PA P 135 RATH,

BT AT HNERFRTH & 2 RATHI DRI —FEIIZRYE B T & &5,
AC = CB 7513, APC = CB? MY 2T L 2R,

A HERITTFI. B AYHEETHIT, AC =COB % 51E, C 3BT TH S Z L 2RY,

A, B BSHATAIR RO, AB ® WA RO T ¥ &R,

A DRI FEOIE, A BFTHIERD & AR,



A= (ai), B = (bj) & n WESTHETE, C=AB T3, C=(c; ) £FEHL,

(1) p,q %%;&tj—éo rj<2'—|-p @66i‘aij:OJ D rj<z'+q tﬂ:%tibij:()l 75‘520
ST, Thk<i4+p+qgaolfe, =01 b EE2RYE,

(2) A % E=A1T5IT, ARSI RETO THhdHLTD, ZOLE, A"=0LR5IL%
e

A% 2IRDIEHITHE T 5,
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(1) A BfFHIchIIE, &ff TTRTO2ROMMITH X 1L T AX = XA DL
DALDZ & ZERY,

(2) &t TTRTD 2RO ATTH] X 12/ LT AX = XAl D iDLT B, ZDOLE,
A ZHAITHITH B Z L B RYE,

(3) ADAH T —fFIThNIE, &M TTRTO2IRDIE[ITH X 12 LT AX = XA
MK DD T & &R,

(4) WHZEAE TTRTO2MDIEFTH X 127 LT AX = XA KL ioe$5, T0D
L&, ARANT—1THITH B I L&t

1 0 . _
(5) Z = <0 1) YE B, ZAZ = A7 513 A BHATHITH B,

T

(6) TTRTD2WDIRZ ML x = (
)

) WIZRLUT, Ax =000 D] 6lE, A=0
ThHbILERYE,

X

(7) TFRTD2RDIIRZ ML x = (
)

> WIZRUT, Ax = Bx DS DD 761X, A=B
ThdILErY,

(1) A BRRATFITHNIE, TTRTOHRT ML x TR LU TxAx =0 DD LD) &
Z e,

(2) TTRTDFRZ PV x IZHUTKxAx =0 DR D LD 251 A BRRITHITH D Z
&R,

(1) B B"RXRA7FIDK;, A= (E—-B)(E+ B)™! ZERfTHTHEZ e, E+ AXEH
THITh B Z L ERYE,

(2) ARERIHT E+ADPEATHE LT 5, O B=(E—A)(E+ A~ 1347
I ThHDILERYE,

BY=(E-X)(E+X)"'O, E4+Y =2E+X)"\E-Y =2X(E+X),(E -
YWE+Y)™! =X &5,



